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Intro

Today we will a"wa learn 11 971 of o1 noon

Some of the topics we will learn about include. flo” :.IT nu]jg
One who i mﬁ«% to return a lost article:

qoI' 23T NN
There is a Machlokes in 1"1 xnj xaa regarding someone
who found a lost article and is waiting to return it:

qorr 1 holds that he is a ow "mw, because while watching 4 ,

the item he is occupied with the Mitzvah of amax nawn; and o/ A2 DAY

h 1d b tf iving a poor man ap1y, based ) )

o5 o be exempt from giving 2 p He’s arow »mw He’s apon mw
NIXNN N 1109 NIXN JoIVN ’ .

This nors that he saves is considered a significant gain to Becuse he v W It iy pot »é’[

render him a v nw.

However na1 holds that he is merely a nin v, because it

is nww ¥, it’s not common that a poor man will come just
then.

This question is relevant regarding nxin vmn, whether he’s
is benefitting from the vm.

/rom/ ?wmg/ 3)/993 that & poor mar
514 por will come judt thew
WD W 200

The Gemara will explain the Mishnah of
N'anNn AXIN TN
INTAR 19 TN

® 12NN IR TN

MT2AR I PTND
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‘ Let’s preview the possible oniow in a case of arax vrn:
First of all, it depends on who is the vmn:
Who is prohibited to benefit from the other?
The nrax 'wa - the owner of the object — or,

The v = the finder; Possible DN in a case of..
If the nrax 'wa is the ~mm, we could say
NT22AR NP

The wrnn MAY return it to the nmax wa, because,
" TNn K N'wOIT 'T'Nn

He’s getting back his own object, which is NOT a benefit.
@)

TN X3

The vmn may NOT return it to the amax wa, because,
N NN RpT

It IS considered a benefit to get back one’s lost object.

If the ~vrnn is the ~mm, we could say
TN X9
qor' )T nLINS a1 nn NPT
The vn may NOT return it to the nmax wa, because the
vnn benefits in that he is exempt from giving a poor man
Tzedakah while he returns the amx, because
NnixXNN [N 109 NIXN gown
When one is occupied with one Mitzvah, he is exempt
from other Mitzvos.
OR -
~1n - Because

. nnw X1 qoI' 22T AvNS
It’s not common that someone will come for Tzedakah
just at that time.

Now, let’s explain the possible oo

15w 1onw oipna - where a reward is given:

If the nrax wa is the vmm, the wox is only if the vrnn refuses
to accept the ww, or where the vrnn is prohibited from
accepting the v because they are both v from each
other. In that case, the nmax wa may NOT retain the v,
because he would be benefitting from the vrnn. Therefore,
Uannphtankbh)]

The reward must be given to vtpn.

However, there is no o for the vrn to accept the v if
he’s not v1n from the amax wa.

Possible D )2DN...

DW PHLVIIV DIPN2

If the vrnn is the vn, we could say that he’s ~ox to take the
1w, because he would be benefitting from the nrax sa.

OR -

He’s nin to take the v, and he’s NOT considered to be
benefitting from the amax wa, because, as the Ran
explains;

1T '1IXN DY INIRY

n'm annnp NI

He earned the v as compensation for his time, and
that’s not considered a benefit from the amax wa.
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‘ So let’s review ...
Th i Mishnah tioned the Halachah of
n-j—.f,:i:::):nsn ishnah mentione e Halachah o 1-1q:nn nx;n 1ﬂ‘nn

A person who is prohibited in all benefits from his friend
19w N 19 Yp1Iv

The vm may pay off the vmn’s obligation for the ypwn n'xnn. 19297 AN vﬁ15\ 1‘7Pw NN 'ls SP“”
The vy MAY pay offp  The: saw MAY pay offp

And the vm may pay off the vin’s loan.
This was explained in the previous Daf. ) )

P P the s’y loan the s’y oé@aﬂom
/or the /6&) Y20 %

In the previous Mishnah...

The Mishnah continues;
INTAN 19 ' TNNI

He may return his lost item.
However,

DY 0NV DN

NN O N

wTpNY NN 1en H
Where they are accustomed to reward one who returns a owever,
nmax, the reward must be given to wn. ﬂ:w rSmn:w n‘Pn:
BIPMY AN 980
. Where z‘/be?/ reward one who refurng @ ik,

the reward WMUST be given ty tp>

wn |

NPT
Vedlesk‘e‘l .
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. Let’s review and explain the possible omiox in a case of
NTaR Y'TNN:
First of all, it depends on who is the vmn:
Who is prohibited to benefit from the other?
The amax wa - the owner of the object - or,
The vrnn — the finder;

If the amax wa is the v, we could say

aAaTn —

The ~wrnn MAY return it to the nmax wa, because,

N 3TN NP N'woIT'T'n

He's getting back his own object, which is NOT a benefit.
OR -

TN X9

The vran may NOT return it to the amax wa, because,

n"1 900 ’pT

It IS considered a benefit to get back one’s lost object.

If the vrnn is the vmm, we could say

TN X9

qoI' 22T NS "1 0N NJT

The ~vmn may NOT return it to the nmax wa, because the
~rnn benefits in that he is exempt from giving a poor man
Tzedakah while he returns the amx, because

niXNN 0109 NIXN Jown

When one is occupied with one Mitzvah, he is exempt
from other Mitzvos.

OR -

~1on - Because

nnw x4 qorI' T nuNoS

It's not common that someone will come for Tzedakah
just at that time.

The /MM le pryon

i w case o% Dk -

2

It depends who is the 970!
The NT°2R Y¥2? (R ThePTNN?

TN
vy MAY return it
to the 9t fo
IF THE
NTAR Y2 >/ 7 £ o)z N

istheYTn be OPR,
3TN XY
2 sy NOT retwrn it
to the 23t ffo

>/ pw 3

We coukd say,
TN RH
5 Gor o 2000 ) pw 43
He iy epempt /mm/ giving P73
IF THE while he returns the >3t
PINN NG W WD U3 POty

isthe YT o,

V 270
pol L’/ 40/' 9% O

NOT common someone will come

/W WMMMMW#M

)
Yecheskel .
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Now, let’s explain the possible oo

“Hw onw oipm - where a reward is given:

If the nmax wa is the vmn, the ~ow is only if the vrnn refuses
to accept the v, or where the vmn is prohibited from
accepting the v because they are both vmn from each
other. In that case, the nmax wa may NOT retain the v,
because he would be benefitting from the ~vrnn. There-
fore,

UTpN'I NXIN 19N

The reward must be given to wtan.

However, there is no o for the vn to accept the v if
he’s not v1n from the amax wa.

If the vrnn is the vin, we could say that he’s ~ox to take

the 1w, because he would be benefitting from the amax wa.

OR -

He’s anm to take the vow, and he’s NOT considered to be
benefitting from the nvax wa, because, as the Ran
explains;

1T 'IXN DY INIRY

n'2'n 2nnnp NI

He earned the vw as compensation for his time, and
that’s not considered a benefit from the amax wa.

W/MWZ@ prjok
MDY PHVLIIVY DIPN2

IF THE

NT2AR Y2
isthe YT

ok wonlyif...
PTNN REFUSES to
accept the 1DW
OR...
P1NY is PROHIBITED
from accepting 10w

Because they're BOTH v
ﬂom/ each other

DTN bva may NOT
retain the )OW
77’”%”’
f?/’ﬁ)ﬂ)l]ﬂ [d/)

DafHachaim.org

IF THE

NN
is the YT

We: coudd saty he'y
yok ty take the 20
He’s BENEFITTING
from then TN bva

(R...

He’s NOT benefitting
from thenT2aN bya

1793 N3 95F WMHE
O VIDHD PN
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Based on the above, the Gemara presents two versions of

a
1ox "1 mR " npnn
In explaining the Mishnah of

INTAX 197NN

1.

Both agree that where the nmax wa is the vmn, he IS ~1an,
because

" 1TNN X N'wOIT 'T'N

The Machlokes is only where the vrnn is the ~n;
anmx T

TN XY

Because

qor' 20T NN hisRhh)s) RPT

anx Tl
TN
Because
nnY x4 qoI' 23T ANS

Now, 1w 901w oijna;

According to the 2nd opinion that we are ~1n in both
cases;

wTpnY man ien also applies in both cases;

If ~1n vrnn, he is

DY 1274 TR

If ~1n nrax wa, he is

7dWN 20V IR

However, according to the 1st opinion that we are only
y1on where
aTIN NTAX ‘WA

wTIN XN 719N

Also only applies

AT TR Yy2a

However,

ATINA'TNN

Since he’s vtn xy, there’s no ~w.

Dedicated By:
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Based on the above, the Yemarw presenty
2 versions 0% ot ) M /)/')/A/\/

NT2AR 1D PN

gth a41e?
gt

NTAR Y2
istheYTn

/)/’)/ﬁ/‘/
PION
istheYTIH
wt 3/ W I

TN XY
Qa/' 29 20 ;)f/jS)// ,é/‘ﬁ
pol i

ga ’ 993 Dﬂw

He IS sz
2/ 7W 4P o3 IV

Now,
PY ]"DD'IJI’J mpn2a

/fccor/a'%/ ty the 2nd gpinion,

éspa Y72 /@a

I

YTID DTN by
0l m}//ﬁa,é

¥

AT NN
ol A/o 2ot

According to the 1t gpinion

YT DTN bva

557)3)5)@) [d/)
O@Wm

YT DTN bvad

However,
2T PINP2
Since he’s 17N &S
There’s NO 20
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2.

In the second version both agree that where the vrn is
the ~mm, he IS ~1an, because

nnY N1 qor' )T nuNS

The Machlokes is only where the ntax wa is the vm;

amrR TN

AT X9

Because

"1 ann NPT DIvn

MR Tl

AT

Because

N"137TN X N'woIT TN

Now, 1w 901w oijn;

According to the 2nd opinion, we are ~7n in both cases -
However,

wTINY ARN 719N

Only applies in one case;

If 41 nmax w, he is

7D 20V oK

But it does not apply to ~mm vrnn, because he is

¥ 'y 1nm, since it’s compensation

However, according to the 1st opinion that we are only
TN Where TN TN,

wTpny man ion does NOT apply to either case;

It does not apply to ~n vrnn, because he is ww 1ps nm,
since it’s compensation.

It does not apply to vt nax wa either, because, since he’s
2170 &, there’s no .

DafHachaim.org

M N, /’)/ ﬁ/‘/

NTAR Y2
isthe YT

WE I/ WE 3h
He IS 39y TN XD

40/' 293 020 aﬁa/ 7 FN PN
pol i >/ 33 £p a'/ja// £p7

MPINN
isthe YT

Now,

DY PHYNYW DIPN2
/fccor/a'n?/ to the: 2nd gpinion,

é’?ﬁDﬁMjD [d/)

YT DTN bva
w0 AJV/?/OL’

T PTHD
20 A/)/?/)///

Ity compensation

According to the 1t gpinions

T PP

!;795)/5)95) Jon
Does NOT apply to either case,
YT NTIAN by

Since he’s1Tn &Y
There’s NO 250

IO PTNP
20 g/’)/y)//\/

Ity compensation
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The Gemara continues on Amud Bais;

NIY R

279N 7¥ 103 1799 N

WTPN 1T 20D M

A person noticed a loaf that was pon, ownerless, and he
said that it shall become wpn;

NN N0

N4 '97 yn

If he took the 1> with the intention of eating it, he is
liable for awyn, in which he reimburses wpn for its full
value, because

YTIN NIYan ar'XIin

nixa a1 removes the 1 from the possession of .

However

1'mY nwnInY

NAY XN N2I0 '917 yn

If he only took the 1 with the intention that his sons
inherit it after he dies, he is only liable for arn to the
extent that he only reimburses wtan for axan naiw, the
benefit of his son’s gratefulness.

However, he does NOT reimburse w1pn for the ~>’s full
value, because

YTIN NI ar'XIin o]

may nwins does NOT remove the 1 from the possession of
U,

n'1'n Xya

N1 AR M XN 2

" "0

Inn N1nna (5] nina

A person stated “MY loaf is prohibited to YOU — And he
then gave the > to the vmn as a gift.

Do we say

nnm

The mn may benefit from the ~, because

17K "D

AIONT NXIN N'NIYM] N'N'R D

He stated “MY »,” that the ~ is only prohibited as long
as it’s his. For example;

NIy NNTX KT

If he invites the ~mn for meal, the 1 is prohibited.
However, when it is no longer in his possession, the m» is
permitted.

OR we say

N1 1IONR

The vmn may NOT benefit from the >, because

' nx Y

wIpn Atntiv 'y

He stated “to you,” which implies as v, that the W is
always prohibited.

This discussion continues in the next Daf.

DafHachaim.org

X273 IR
DN HW 195 11DY NN
WTPN 1T 933 N

NYIRY NHVI

N9 05 HYyn
He reimburses 59/')3

/ar oy M value

é;pa NN 3>

1125 NWINNS
DY HSyn
N2V NNRIN NV
Ow/?/mméwm/ lp»
%W %P ol

lop> r1lp e

2

N RY2
X2 PAR 2 RPN 2T

Y 135
2900 ...NANN2 1Y NN

OR WE saYy
N2 IMmn N2 NORXR
19 MR 7DD Y IR PHY
Intlos It 3)'//}/
2Wok3 1D éa/os) 2/l

oY MINTR INRT
TheJ>Dis
PROHIBITED

AswTpn,
the1>D is ALWAYS
prohibited
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